
EECS/CSE 70A Network Analysis I

Homework #6
Solution Key



Problem 1 (30pts.)

The Bode plots show the magnitude and phase of the transfer function of a circuit. The 
input voltage vin(t) = 1 mV cos([2π·10Hz]t). Find the output voltage vout(t).
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Problem 2 (35pts.) 
Find the transfer function H(ω) in terms of R1, R2, L1 and L2. And simplify |H(ω)| at  ω = 0  

and as ω→∞.
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By voltage division



Problem 2 (35pts.) cont’d 
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Let us make an algebraic manipulation as
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The answers are expected since the inductors approach 
to:  (i) short circuit , i.e. lowest impedance path, as the 
frequency decreases; and (ii) open circuit as frequency 
increases.



Problem 3 (35pts.) 
Find the transfer function H(ω) in terms of R1, R2, C1 and C2. And simplify |H(ω)| at  ω = 0  

and as ω→∞.
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Similarly as in Problem 2



Problem 3 (35pts.) cont’d
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Let us make an algebraic manipulation as
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The answers are expected since the capacitors 
approach to:  (i) open circuit as frequency 
decreases; and (ii) short circuit, i.e. lowest 
impedance path, as the frequency increases.


